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Problem quickname: 5545
Calculate the result for the multiplication problem in each cell. o
T 2T 6 [ 3 | P - T715 13

15 30 90 45 8 56 40 24

17 34 | 102 | 51 12 84 60 36

9 18 54 27 4 28 20 12
Calculate the result for the multiplication problem in each cell. o
T3 T a5 [ 2] D - JT2]4a]]3]s

7 21 28 35 14 20 40 80 60 | 100

17 51 68 85 34 8 16 32 24 40

18 54 72 90 36 15 30 60 45 75

3 9 12 15 6 12 24 48 36 60
<) 3 4] 25 ]9 3 [ 4 [ 5 ] 2

11 33 44 22 55 6 18 24 30 12

19 57 76 38 95 10 30 40 50 20

16 48 64 32 80 13 39 52 65 26

14 42 56 28 70 9 27 36 45 18
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Solutions to smp-5545-3/RCGG

Calculate the result for the multiplication problem in each cell.

a) 30 3] 6 ] 2 | P s [ 6 ] 6] 5
6 | -18 | 18 | 36 | 12 13 | 52 | 78 | -78 | -65
27 | 81 | 81 | 162 | 54 8 | 32 | 48 | -48 | -40
30 | -90 | 90 | 180 | 60 25 |-100 | -150 | 150 | 125
32 | 96 | -96 | -192 | -64 33 | 132 | 198 | -198 | -165

c) 51 7] 56 | 9 s | 7| 4] 3
24 | 120 | 168 | -120 | -144 16 | -64 | -112 | 64 | 48
12 | 60 | 84 | -60 | -72 25 | 100 | 175 | -100 | -75
11| 55 | 77 | -55 | -66 4 | 16 | 28 | -16 | -12
4 | 20| 28 | 20 | 24 19 | 76 | 133 | -76 | -57

Good Luck!
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Quick:
5545



